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201649 & 15,000,000, 000 *2%*3/4 225,000
20158 & 5,000,000,000& *3%=*1/4 37,500
OA&Zol SEEA(FIAFES)XE 0l Xt
283 30,000,000,000& *3%+*3/4 675,000
LS &4 d=X9 I (FHEEXR) 100,000 0 100,000
308 XXl EHH SOl A 100,000 0 100,000
10 3J/2SoHUHeSB A ALS I 100,000 0 100,000
OUSIHH sd d=XY X AS (HE-=HI)
100,000, 000& 100,000
HEANE & S 24535 5,950,305 3,847,934 2,102,371
Xl 2,150,000
= 621,000
Al 3,179,305
HEANE 2435} 581,250 473,030 108,220
201 Let24E] 212,040 161,620 50,420
01 At 22l 134,660 72,240 62,420
O1.28 =84l 103,700
-HESANEYR det=EH] 4,000,000& 4,000
-HEANE 222 EX ME  1,000& *4,500% 4,500
-HEANE 2435 I8 g8 20,000,000& 20,000
-S4 HHEANe A BEY
1,000,000& »12& 12,000
-HSAE FEIJIEA UL 7Y
4,000& *1,000% 4,000
SEUNI ANE L HAE 2Y3 HA 89
400,000& 24 2= *43| 3,200
-HdSAE el E2HE 56,000,000& 56,000
O3.2d=¢ 5,960
SSEQAMBAES YW BT
70,0003 x7H %43 1,960
—HNSAE dolns 2AsE
400,000& *5J0 Al & %23 4,000
O5.2 &l 4,200
SHEANE QDX GFA22X 24
7,000 x5 x10L <123 4,200
O6.2xt=z 20,800
-HE (4, F4) dSANE HEEH HAYX
500, 000& *20CH *23] 20,000
SSEANE SFEEA 2R R
800,000& 800
02 3322l 77,380 89,380 A 12,000
O1.23223LHA 47,380
SAE L A 44T 23
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-AiE X8 E 32X dlIes
80,000& x12& 960
5,29 .20, PEENY 522 ®IIQ3
20,0003 *130 & x128 3,120
—AIHE A AIEHa BEE= 1,000,000 1,000
SCAME HARUH AIEHHAE B2
1,500,000 1,500
O3. A€ ZHI =Xt 30,000
-HEANE(SEAME) AIEE2 2|
1,500,000 » 1204 2 18,000
-&E AIEE =X 1,000,000& =122 12,000
202 4l 5,400 5,400 0
01 = LH A HI 5,400 5,400 0
OFESANE 43t dRFANHI
60,0003 *5H x32 +63] 5,400
301 et A3z 3,160 3,160 0
09 EHALAHIZ &S 3,160 3,160 0
OFSANE ENH NJASAX AHIE4
10,000& 100 1,000
OFEANE HAAs, EE3 S F40HI
60,0003 *6H x2 33| 2,160
307 21201 A 100,650 92,850 7,800
02 LAFAAFEX 25,650 32,850 AT7,200
O&= R==AIE &3 FIHAE X
8,100,000& 8,100
OZ=E 2==AE 43HAS FIHAE X
4,050,000& 4,050
OdESAZE -0t (N )diol 2N
4,500,000% *304 & 13,500
05 RIZt2IEt = 75,000 60,000 15,000
OFSAIZE &eltist 2 15,000,000 * 100 & 15,000
OZCANY ZEHFA Fge
1,000,000& x50 A« 123 60,000
NE=A=1R=t W ] 260,000 210,000 50,000
01 A& 8l 260,000 210,000 50,000
OHSAE AEMA 150,000, 000& * 14! 150,000
OFYadt aId ALE 24 (LEDS)
15,000, 0002 14! 15,000
OESAE THLOHEl 8B A
50,000,000 » 14! 50,000
OJHAME(HAIE) stEA MF
45,000,000& * 14 45,000
HEANTLE SH(EX) 587,160 837,004 A 249,844
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Al 97,500
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OFEZAZ OAHOE AXZA
396,000,000 14! 396,000
Xl 250,000
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X ,000,000
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Xl 300,000
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OREZAZE OHAHOE EXISAM
417,000,000& *1.47/100 6,130
O=EZANZ ZHAHEl OAHOIE &AXIZA
1,666,000,000& *1.16/100 19,326
OCHSHAIZ OtAI0IE & XIS A
500,000, 000& 1.43/100 7,150
OSXAIZ OHAHIOIE AXIZ A
1,000,000, 000& *1.23/100 12,300
03 Al 2 THHI 9,451 6,300 3,151
OREZAZE OHAHOE EXISAM
417,000,000 *0.72/100%50%<Z& 2> 1,502
STAE ZEHHC OHAHIOE EXISA
1,666,000, 000& *0.36/100%50%<& 2+ > 2,999
OCHSHAIE OtAI0IE & XIS A
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OSXAIZ OHAHIOIE AXIZA
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HEANES AN E S (BX) 1,271,538 0 1,271,538
= 423,000
Al 848,538
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Al 12,000

OSEANE SFMATAIE HE =
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< 12,000
Al 24,000
OHLAE SHTHHEAIE JHE >
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Al 12,000
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< 282,900
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A S A2 B 397,610 424,030 A 26,420
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307 2Iz2to| A 80,000 135,000 A 55,000
== 24,000
Al 56,000
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